Numericka rjeSenja zadataka
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Vm = 1,744 m/s, ay = 9,7 m/s*

Ve = 3,42 m/s, wapc = 4 rad/s,
ac= 17,5 m/s, aupc = 37,5 rad/s’

Vg =3 m/s, ag = 8,2 m/s>

Polozaj Pypc LV, iu pravcu OA
Vi =2 ms, a, =20 m/s%,
vg=2,4m/s, ag=10m/s%
ve=1,15m/s, ac=24,4 m/s*

Ve =32 m/s, ac = 13,32 m/s*

Ve = 1,54 m/s, ac = 26,8 m/s*

wap = 3,13 rad/s,
wpc = 0,475 rad/s,
axp = 3,7 rad/s?, apc = 4,58 rad/s’

=0,727 rad/s,
wpo = 0,275 rad/s,
ano = 0,356 rad/s’,
apo = 0,570 rad/s’

Vp = 3,5 m/s, ap = 43 m/s*

wap = 0,575 rad/s (u smj. k. s.),
aap = 0,4875 m/s* (sup. smj. k. s.)

= 6,708 m/s*, ap = 8 m/s’,
2 rad/s, a = 3 rad/s?

Vg = 0,693 m/s, ag = 2,4 m/s>

0,6, v, =0,6 m/s,
O6¢,v =0,6 m/s,
=1,2/-0,67, a, =1,342 m/s’
AB—ISrad/s

<1 <l

é
a a, =1,65 m/s?
Vp = 0,9 m/S, Vg = 0,375 m/S,

Ve = 0,65 In/S, Vp = 1,04 m/s,
w =225 rad/s
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4.4.30 vc

VE—053 m/S ag = 0345m/S
w =12 rad/s, & = 113,6 rad/s’

Ve = 1,6 m/s, wgc = 5,5 rad/s,
apc =—-31,6 rad/s?

Ve =0,15 m/s, wgc =
ape = —2,666 rad/s?

2,5 rad/s,

= 1,5 m/s, ag = 3,7 m/s’,
=0,7m/s, ac = 142m/s

W ape = 4 1ad/s, aape = 31,33 rad/s?

Vp = 0,33 m/s, ap =—1,55 m/s%,
Wap = 2,925 rad/s,
wcp = 1,01 rad/s,

aap =-2,28 rad/s?, acp = 3,61 rad/s

Vc—llm/S ac = 206m/S

=48 m/s, ac = 25 m/s%,
wpe = 4,3 rad/s, apc= 29,5 rad/s’,

wcp= 3,2 rad/s, acp=-13,3 rad/s?

4.4.31 vec=6m/s, wgc = 5 rad/s
4.4.32 vy, =0,216 m/s, wgc = 0,992 rad/s
4433 vya=2,4m/s, wsg=4,156 rad/s
4.4.34 ve= 1,330 m/s, wac = 4,267 rad/s
4.4.35 v =0,8196 m/s,

ap = 2,529 m/s’,

4.4.36

wap = 0,4899 rad/s,
Ap = 2,276 rad/s?

wpc = 0,2857 rad/s, apc = 0 rad/s?,
wcp = 0,2857 rad/s,
cp = —0,6857 rad/s’®



